Multiplicity-8
trigger

LineFit velocity < 0.09 &&

Tol eigenvalue ratio > 0.06 LineFit velocity < 0.12 &&

Tol eigenvalue ratio > 0.1 &&

w rlogL < 9.5

LLHRatio < 5 &&
cos(SPEZenith) < 0.36
+ 0.16log10(E)

1 cluster

Vertex in detector &&
Highest-charge DOM
not on outer layer

First HLC hit not on
outer layer or within 70
m of top or bottom

FillRatio > 0.6 &&
NStrings > 3

rlogL <9
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Neutrino-level selection

e e e L A e ity

1 cluster &&

NString > 3 && Cleanup
LineFit velocity < 0.09 && cuts

Tol eigenvalue ratio > 0.06

Veto charge = 0

> 6000

Veto charge < 2

< 10 (nondetection) > 10 (detection)
ack charge




